SATs Survival Year 6 Easter Maths
Addition and Subtraction

1. Add these numbers using mental methods.

328 217 +
46 002

763 +
520

\ -
)
<

/

\

/ \

1 e

VRS

A
b
=

=

1728 2

2. Subtract these numbers using mental methods.
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4, Subtract the numbers on the eggs using the written method of column subtraction.

Problem Solving Challenge:
Three Easter eggs all weigh different amounts between 150 grams and 160 grams.

The first and the second egg weigh 314 grams altogether.
The second and the third egg weigh 306 grams altogether.
The first and the third egg weigh 310 grams altogether.

What are the weights of the eggs?
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SATs Survival Year 6 Easter Maths Answers
Addition and Subtraction

1. Add these numbers using mental methods.
763 + 520 = 1283 4328 + 299 = 4627 328 217 + 46 002 =

374 219

2. Subtract these numbers using mental methods.
875 - 350 = 525 267 550 - 15 000 = 5286 - 199 =

252 550 5087
3. Add the numbers on the eggs using the written method of column addition.
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4. Subtract the numbers on the eggs using the written method of column subtraction.
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Problem Solving Challenge:
Egg 1 = 159¢g Egg 2 = 155¢g Egg 3 = 151g
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